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344 1]

BSc (Part-n) gxamination, 2020

(Booklet Code | PHYSICS

Time: Three Hours ]

(th.ical optics and u“f')

[ Maximum Marks : $9

Note : Attempt all Questions. Each

1.

question carries equal marks.

Which of the following formula is

incorrect-

(A) d=.d;d,
(B) d = 2a (p-1)t

DA
B

(D) d=d,d,

How many colours comprise white

(C) d=

light

(A) Three
(B) Seven
(C) Ten

(D) Nine

Az : ai ve APt #) oxe e T
3w = 2

1. PEtasdhagpr
(A) d-Jd; 0,
(B) d = 2a (u-1)

3.

d=-
(€) 9=

(B d=dd,
‘}/mmﬁw:%ﬂmt—

() &

@f

(C) =1

Id

(D)

PYTO.
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f
The value of }i for a zone plate

wﬁlbe

)
W ® 3
© 2 3

The correct expression for the fo-

cal length of a zone plate is

(A) u+v=f

(D) f=nir?
If the distance between two slits is

halved, the fringe width, as com-
pared to initial value, becomes

(A) half

(B) double

(C) one fourth

(D) four times

In biprism experiment the
fringewidth of fringes obtained by
white light source is

(A) same

(B) zero

(C) Unequal
(D) infinity

344/H

(A) —g- (B) 3
© 3 (D) 3
s o & R s gl 3 w8 T
2
(A) u+v=f

@ 11 n

u v ni
2

R

(€ f= (2p - 1)nA

(D) f=nir2
ofX 21 Y st & wen g e AR A
s o fsor died T B & SR
(A) e

(8) FF

() dtrd

(D) TR T

R-frow i ¥ e W R bt
o dteré ael &
(&) WA
(B) ¢

(C) FaHH

(D) ¥
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7. The equations of twg waves are

y,=a sin wt and y.=a g (wt+3)

respectively. Constructive interfar.
ence will take place at the point
where 0 is

(A) =

(B) 3xn

(C) 2=

(D) Sn

If the frequency of light emitted by

a source in interference experiment

is made four times then the fringe

width will become

(A) four times

(B) three times

(C) one fourth

(D) Half

What will be the radius of first HPZ

at a distance of 0.5m from a plane

R T & heon s g
sin wt 9T y_=a sin (Wt+0) # Yoy
ﬁ%“mmﬁmmqﬁﬁﬂ
A -

(A) =

(B) 3w
(C) 2=

(D) 5n

af RO & WA # vom A
foraem ATy e B gl AR T R
3 2 oot & s & s

(A) TR A

(B) & TR

(C) s

(DY 3mel

e T & 0.5 0. g w fua iy
R oM Pee (HPZ) o B =

wavefront, if the wavelength of light 2> af werer @ aded 5000A 2
used is 500042 (A) 0.05 m
(A) 0.05 m (B) 0.05 cm
(B) 0.05 cm
(C) 0.05 mm
(C) 0.05 mm
(D) 0.05 km (D) 0.05 km
344/H () P.T.0.
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10. The focal length of a zone platé 5

11,

12.

13.

(A) ol B f-—ﬁi
Y (B) " na
nx2

(C) f=r2+222 (D) f =7
n

The ratio of phase difference and
path difference is
(A) 2n

2z
A
A
(C) o

(D) =/

(B)

For which colour the fringe width is
minimum

(A) Violet

(B) red

(C) green

(D) yellow

In moving one Mirrorin a Michelson
interferometer through a distance
of 0.1474 mm, 500 fringes crosg
the centre of the field of view, What
is the wavelength of light-

(A) 58964

(B) 62254

(C) 75004

(D) 40844

344/H

[4)

10, 3 o A o g0 &

1
W

2 2

A f =i =
WS @y
2

€) f=r2422 (0)f=77
n

11. TRR, qurR 21 P T e &

(A) 2n

(8) =

A
(C) 3
LY n/A

Wﬁ#miﬂas%ﬁmiﬂﬂ
v -
(A) &=
(B) &
)&
(D) fem
13. ARGTET FTORNMRR ¥ vs 2oy @

0.1474 1.8, T 75 T % 500 R
&% 3 UR TR R & wevrer ) wodes

2rft-
(R) 58964
(B) 62254
(C) 75004

(D) 40844

https://www.dbrauonline.com



10. The focal length of a zone plate i

2 2

(A) f="n_ Mo
A (B) =1
n2)?

(C) F=r24202 (p)f= —

n
11. The ratio of phase difference and
path difference is

10°

11,

M S B e g &
(A) £

. (8) f =

nA
n2 12
I'nz

WK, TR 1 ey T B 2-

(A) 2z

(A) 2=
5 2 (8) &
: A
(© 5 © 3
(D) /A B7 /2
12. For which colour the fringe width is 1/2/F—‘I’=I U w3 ¥ RRY few dtsé
minimum AT B
(A) Violet (A) &
(B) red (B) @
(C) green (C) &1
(D) yellow (D) drem
13. In moving one Mirror in a Michelson 13. ARSI TR ¥ v <ot B
Interferometer through a distance 0.1474 B . & % Tomy % 500 Ry
of 0.1474 mm, 500 fringes cross TN R o R & worer e vt
the centre of the field of view. What e
is the wavelength of light- (A) 5896R
(A) 58964
(8) 62254 (B) 62254
(C) 75004 (C) 75004
(D) 40848
344/ (D) 40844
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14. The correct formula for the limit
of

resolution of a TE'ESCQpe is

a
(A) 99=155

(C) de=1.22%a

an
(D) d8=155

15. The refracting angle of biprism is

(A) 179° (8) %"
(€) 11° (D) 90°

16. The nature of light which is verified
by interference event is |
(A) particle nature
(B) wave nature
(C) dual nature
(D) quantum nature
17. The ratio of intensities of consecu-
tive maxima in the diffraction pat-
tern due to a single slit is

(A) 1:4:9

() 1:2:3 %

'C 1°i'i
(C) "9n? 25q°
D 1'_..._...'..L
(D) "'9n? 2572

344/H

14 wa&mﬁmﬂﬂﬂﬁﬂt‘

~7(is.

a
(A) d8=7557

1.22)
() d0==7

(C) de=1.22)a

aa
(D) d8=753

R e 1 Fvads Pt &

10

(A) 179° ® 3

(C) 11° (D) 90°

y_/aﬁamaﬁam%mm‘fﬁ?ﬂ“@ﬁ

17.

5]

# gfe & &

(A) T il

(8) < wpfe

(C) &a wgh

(D) TEieH WHi .

vhe (afes ¥ e fdadw ufosa &
IR FETD (maxima) B drgani
o1 IO -

(A) 1:4:9

(B) 1:2:3

(€) 1:-%: 92
9n“ 25n

L4, 4
"9n? 25n2

(D)

p'TIOl
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18, r
18. Howmlnyfociiamthereinaﬂm W*Mmmt

olate (8) vm

(A) one (B) L

(B) two (C) 3P

(C) multiple (D) w

(D) zere 19. 2 e Sl ot e g 1 v O
19. The intensity of two light sources Lol

are [ and 91. If the phase difference bR R Frah it & o TR

between waves emitted by them =& & ager A e 2o

is 'x’, then the resultant intensity

at point of observation will be (A) 31 By 4l

(A) 3I (B) 4l

(C) 101 (D) 821
(C) 101 (D) 821

20. In a double siit experiment, the in- 20. R-Yan fsx waim & wew w B S

tensity of each wave is I, then the I, & & oRomd dwen 1 8 (¢ BORR
resultant intensity I will be (¢ is )
phase difference
) (A) 4], coszg (B) 41, sln2%
(A) 4l costd (g) a1 sin? $
a1, tat ¥ (py 21, cos? ¢
(C) 41, tan’% (D) 2I, cos’% (C) 4lo tams (D) 2lp cos™

21, "\ Wiyl @ wHae aium ‘o e
21. A plane wavefront of wavelength

B v i | smida & fvs &
'A' Is incident upon a single slit of v ek &
width 'a'. The angular width of
2\ a
fringe is W 7 i8) T

(A) ?;"- (B) -;':

() ‘E (D) J%
oo
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2

23.

24,

n=1: 2r 3; 4 ..
If *- are the ord&rg

thEn thEil"a'.Ea
is approximately meOrtuon |
Al'to

of consecutive HPZ,

(A) N
(8) Vn

) n°
1
0) ;

The correct formula for fringe y;c.
ibility is -

IMBX '[Hin

IMax +Imin

Imax +Imin
V="112X__Tin
(B) [Max "I!‘lin

) v

Il'-’lan:

V=
© " T

Imin

V=-Mn_
©) T L
The relation between fringewidth

(B) and Angular fringewidth [w]

0]

24,

aﬁmaﬁmmﬁaﬁm
T PR S S

(A) n

(B) vh

(C) n°

1
(O) 4

V= Ivax +Imin -
IME! —IMIn

B

I
C V= Max
( ) Min

Hln

Tuax
o eheré (p) o Boivr fvar e

[w] & A way #-

(D) V=

(A) p=Dw
w

(B) B=E

(C) p=w+D

(D) p=w-D
P.T.O.

https://www.dbrauonline.com



25,

26.

27.

28,

The ratio of slit width In Youny's
double slit experiment Is 4: 9. The
ratio of maximum and minimum
intensities will be

(A) 169 : 25

(B) B81: 16

(C) 13:5

(D) 25:1

In Young's doubt slit experiment
the phase difference between
waves reaching the central fringe
and 5th bright fringe will be

(A) 3n

(B) 10n

(C) Sn

(D) 4n

The amplitude of two waves are in
the ratio of 3:1. The intensity ratio
of these two waves will be

(A) 3:1

(B) 9:1

(C) 16:1

(D) 4:1

The Two coherent source will
produce constructive interference if
they differ in phase by

(A) 3n
(B) n
(C) n/2

(D) 4n

344/H

28,

26.

27.

28.

R R i 4 o Pt
VTR 4 - 9 5 ey 91 o Somes
o e o Aot 21 e 4
(A) 169 : 25

(B) 81: 16

(C) 13:5

(D) 25: 1

i & Rk wam & g B am
et s fson o o e et
A TR -

(8) 3

(B) 10n

(C) 5n

(D) 4n

A R & st o a3 0 14 D
deremait @ s Av-
(A) 3:1

(8) 9:1

(C) 16:1

fD) 4:1

2 oW W Hi sfesRor 3w
=% ok 7% W R #

(A) 3n

&) n

(C) n/2

(D) 4n
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g. The Time of c°h""tnc

L]
! "“fth, 29. SR W WG W/ A o g &

or of
:':: 10 * sec | (A) 10°* sec
(8) 10 } sac (B) 10°® sec
(©) 10 6 sec (C) 10°® sec
) 10°? sec (D) 1072 sec
30. The oll [ayer on the sureye, o wa 30. TR T ke g e, e & T
ter appears coloured gyq to inter: ¥ wRoT v Pramé den & g v &
ference. For this effect yq p, Visible o &Y werd e &
the thickness of oll layer will be (A) 1mm
(A) 1mm (B) 1cm
(8) 1;;; (@) 1004
1
EE: 4000A (D) 4000A
31. Wavelength of Violet light is 40004, 3 ::i‘:“%m:mon e

what is its frequency?
(A) 3x10'%Hz
(B) 3x10'2Hz
(C) 75x10'5Hz
(D) 75x10!3Hz
32. The displacements of the interfer-

(A) 3x10'%Hz
(B) 3x10'?Hz
(C) 75%10'°Hz
(D) 75x10'*Hz

32. wfaERo ail & R A
Y,=4 sin wt ¥,=3 sin (wt+n/2)

ing waves are -
Y,=4 sinwt Y,=3 sin (wt+t/2) A, & Rom a1 S d-
nt wave will

The amplitude of resist2 (A) Sem

be-

(A) Scm (B) 7cm

(B) 7cm (C) 1 cm

(©) 1om (D) Zero cm.

(P) zero cm. ] P.T.0.
344/H
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33. W (c), winke (1) v ST (v) vy

"dn"'
2
33. Speed (c), waveted * s * ﬁqw%@t
() of ught are & (&) v=<
(A) \.f: B) A=¢v
(B) A=ov (c) x1-E
v
a_C
(C) X' =7 (D) =7 ¥ 2 &
these

(0) Noneff 34. T A W wh &
34, whr.honeu; true- (A) 12=10*® cm

(A) 1A=10** cm (8) 1A=10"% meter

(8) 1A=10"° meter
(C) 1A=10"1° meter
(D) 1A=1 meter
35. A glass plate is to be used as apo-

(€) IR_=10"“"-‘ meter
(D) 1R=1 meter

35. v B B A 3 gas B wify 3wam

larizer. Refractive index of glass 5 R e &1 Fta @ IvadEG 1.54 @
1.54, then the angle of polariza-
o for it ie o 39 B graor ot dm-
(A) 30° (&) 30°
(B) 45° . (B) 45°
(C) 57° (ef 57°
(D) 60° (D) 60°
36. For agiven medium, the polarizing 36, &% R &Y e & Y gt ot 60°
angle is 60°. The critical Angle :
for M wia® Do
the medium will be (sin 35=0‘57) {4 & R A
(A) 65° (sin 35=0.57)
(B) 35° (A) 65° w
(C) 250 (8 35° |
344/H (of 55°
Ly
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37. AN unpolarized bean, of I“tensm{ 37 2a? dvgan & Sy fasvor & v gk
2a? passes through thin Polargig. dAIEE # A IR & o ireres %
Assuming Zero absorptig, | the Bé AT T B 4 A Pt
polaroid, the intensity o eMergen & S o
plane polarized light wij) pe._ ECaLl -

(A) 22 (A) 22
(B) a2 (B) a?
(©) V322 (C) V2a?
. 2
©) EJ% ©®

38. The ratio of resolving power of an 38. FOTH Qe Y Rrdery aen e
electron microscope to that of an geed A e T st B &
ordinary microscope is (A) 40 T
(A) 40 times (B) 400 T
(B) 400 time
(C) 4000 times (C) 4000 T
(D) 4 times (D) 4T

39. The interference phenomenon was  * 39. &M ¥ aaferaor JMTa @7 3T o
first studies by tefre 3 wdwem fear-

(A) Huygen (A) Huygen

(8) Fresnel (B) Fresnel

(C) Young

() Y:jur;g (D) Lloyd

(D) Lloy : _
40. The unit of wavelength i 0. ?:)ﬁfeff ?

(A) Newton (B) Kilogm

(B) Kilogm (©) em

(C) cm (D) sec.

(D) sec. 1y pP.T.0.
344/H
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beusedwiﬂ‘

wer of Mic’®”

41. Which colour should
Crease Resolving po
scope-

(A) Violet

(B) Red

(C) Yeliow

(D) Green
42. The condition for obtaining second
ary maxima in the diffraction pat”
termn due to a single slit is

(A) asine =nx

(B) asiné=(2n- 1)_;_

(C) asin® = (2n-1) A

(D) asin6= "_2’:

43. A glass wedge of angle 0.01 radian
is illuminated by monochromatic
light of 60004 falling normally on
it. At what distance from the edge
of the wedge, will be 10* fringe pe

observed by reflected light-

(A) 0.30 c¢m
(B) 0.15 ¢cm
(C) 3.0 cm

(D) 1.5 cm
344/H

41.

(1)

42.

43.

WA B vy e aery & By
1 % 2 R <o o b 5t &

(A) &rh

(B) et

(C) e

(D) &1

BT Y oo @ o o st et wfereu
4 e shas wer 29 & o @

(A) asin®=nx
(8) asinB:(Zn—l)%

(Cy asing = (2n-1) A

(D) asin6= Ezi

UE T d31 (wedge) & DIUT 0.01
W &1 21 3 R v o garer o
Wt 6000A & eFaq STem e &1
3 & TR A oo @ R 1081 B
Rafi Jor ¥ fearg o

(A) 0.30 4.
(B) 0.15 J.A.

(C) 3.0 A.A.
(D) 1.5 AR
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J .

ﬁm\%:"'"‘*‘“ the

dsaf“eter of th’e

ng a =T 0.336 N aen gmd Ry @y

f15% d C2 1
i:dm;t:;;cm "Ng wag 0.335::: 0.590 ¥ # AR AN PrYa afor
qus of curvature of plane;The - T IS TR (R) 100 ¥k &

con
s 100cm. The Wavelengty, of 1;;

el g

used 1S (A) 5060 A
() 5060 A (B) 6400A
B) 6400A&
© (C) 58904
(C) 5890A
(D) 7600R () 7600A
45. A calcite crystal is placed over a got 45, TF CUET T BN U TS W BT
on a piece of paper and rotateqd. R TEER YA S &1 Bewge A T
On viewing through calcite one wil| w o am-
€ () UD 3T
(A) A single dot (8) 2 R 3T
B) Two stationary dots
(C) T tating dots (€) 2 Tﬁ' Ejﬁ st
0 o ‘
o o dot rotating about other (D) & 3 R B TR AR TR
() One o-m . . 46. Frater B9 gri Prffira v @ &
46. Light transmitted by Nicol Prism is
: (A) rgfaa
(A) Unpolarised
: (B) wWaa gfdd
(B) Plane Polarized g\%ﬂ
| - od (C) T4
(C) Circularly polanz 0 & 3 gﬁa
inticall rized | N
47 iD)Y E“Ip?:a d:u:m:git experiment 47. < ¥ T v fog wdw % & a0 B
. In Young
the amplitudes of two waves a: AT Sa Al 3a 3 TR W LaR)
. ratio .
Sa and 3a respectively T:: ok Rbesit &t Qgamsil &1 T
of intensities of bright 2 @A) 16: 1
fringes will be
" ®) 5:3 -
(A) 16 : 1
(B) 5:3 (C) 3:5
(€) 3:5 (D) 25:9
(B) 2529 (13) P.T.O.
344/H
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48. The equations of two waves are

49.

50.

y,=3 cos wt & y,=2 cos wt. The
ratio of maximum to minimum in-
tensities produced by superposition
of waves will be

(A) 3:2

(B) 25:1

(C) 9:4

(D) 1: 25

The CO, Laser is one of the most
powerful lasers. The energy differ-
ence between the two laser levels
is 0.117 eV. Determine the fre-
quency of radiation-

(A) 1.6x10% Hz

(B) 2.9x103 Hz

(C) 1.6x10'3 Hz

(D) 2.9x10'3 Hz

A LASER is constructed with a Ruby
crystal as the active element. The
ruby rod contains a total of 3x 109
ions. If the laser emits light at
6943A wavelength. Find energy of
one emitted photon in electron
volt-

(A) 2.63

(B) 1.79

(C) 3.3

(D) 6.72

344/H

(14)

48. o e A e & wres<or &

49,

50.

y,=3 cos wt, y,=2 COS wt

2t et &5 ST & Fe A
mwﬁaﬁmﬁﬂmm-
(d) 3:2

(B) 25: 1

(C) 9:4

(D) 1:25
cozmuassxﬁmsrﬁﬁmﬁam%q
2 AR ae & 9 Fa1 B IR 0.117
e ae & Preem a@ <o &
smgfer Framferd-

(A) 1.6x103 Hz

(B) 2.9x10° Hz

9:) 1.6x10%3 Hz

(D) 2.9x10!3 Hz

&t f5ea o afba o R e AR
AT 7T @1 ) B 8% ¥ F 3% 10°

I &1 AR 69438 Tt 37 weprer
Frapteren & A P ot o wrer o
w5t ot 3t @ st dvee
Fo8 4 -

(X) 2.63

(B) 1.79 )

(C) 3.3

(D) 6.72
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53

52.

53.

54,

The Path differencg
interfering wayeg at
screen IS 2/8. The rapg, .
at this point and that at thlntensny
fringe will be € Centry,
(A) 0.853

(8) 8.53

(C) 85.3

(D) 853

In Young's experiment of do
the two slits are illumi

f wavelength \urminated by light
0 9th S890R ang the 3
gular with of fringe is 0,20 | t:
whole apparatus is immerseq i:
water then the angular fringe wigtn
will be (p of water 4/3)
(A) 0.15°
(B) 0.2°
(C) 0.30°
(D) 30°
The light reflected from water Sur-
face is completely polarized. The
angle of incidence will be

(u of water is 1.3)

(A) 30°
(8) 45°
(C) 53°
(D) 65°

ion
A certain length £ of 5% solutio
of 20°. what

he same
ation of

uble slit

causes an optical
length of 10% solution of t
substance will cause 2 ™
3507

(A) 0.225

(B) 0.575 1

(C) 0.875 ¢

MILD) 0.72 1

51.
| qUR A/8 & v A we e e

52.

53.

54.

ﬁé%f&ﬂ%ﬂ:‘gtﬂmmmm

e el s ¥y e @ Ao
WA g-

(A) 0.853

(B) 8.53

(C) 85.3

(D) 853

A & wan ¥ 2 Yo s A 5890° %
TeT A N AR W o @ st A
B dteré 0.20 #) Q¥ 3907 2 qFA
¥ g ) P de & (S B
qadis 4/3 €1

(A) 0.15°

(B8) 0.2°

(C) 0.30°

(D) 30°

o @ AR ¥ (= 1.3)qRmafde T
qoferan gfRm # a S BT En-
(A) 30°

(B) 45°

(c) 53°

(D) 65°

59 farraa @ va Pfvea wwark 1 20°
21 i ot Jeaw &t 1 3 qa
¥ 10% P & s avamé 350 @
wof Jem

(A) 0.225 ¢

(B) 0.575¢

(C) 0.875 f

(D) 0.72§

P.T.0.
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" The path difference betwe

52.

53.

4,

¢ en t
interfering waves at , PoInt I
on

screen y l /8. The ratio of Intensipy,
at this point and that at thq cent
fringe will be ral
(A) 0.853
(8) 8.53
(C) 85.3
(D) 853

In Young's experiment of double )it
the two slits are illuminated by light
of wavelength 5890& and the an-
gular with of fringe is 0.29, If the
whole apparatus is immersed in
water then the angular fringe width
will be (p of water 4/3)

(A) 0.15°

(8) 0.2°

(C) 0.30°

(D) 30°

The light reflected from water Sur-
face is completely polarized. The

angle of incidence will be
(p of water Is 1.3)

(A) 30°
(B) 45°
(C) 53°
D 0
o(\ -:):eri:in length 1 of 5% W'"tim:
causes an optical of 20°. WI::e
length of 10% solution of thei:: .
substance will causeé 2 rotat

3597

(A) 0.225 ¢

(B) 0.575 &

(C) 0.875 4

uq/{D) 0.72 1

(15)

51.

[ 2

52.

53.

54,

¥ ¥ 0 R u= 2 e aall & WA
qurR A/8 &1 g fag w A aun
At TR Mgt ¥ ¥ ) doen B
FraTa @

(A) 0.853

(B) 8.53

(C) 85.3

(D) 853

2 ¥ winT ¥ 2 Y R Y 5890° %
m%nmﬁmaﬂﬂwqémﬁva‘ia%
B e 0.2° #1 qX 3uaoT B TFT
¥ gaR W By digi @t (51 3
Fqad® 4/3 &)

(A) 0.15°

@) 0.2°

(C) 0.30°

(D) 30°

ar & TEE ¥ (i = 1.3)RmEfdd g
yofarar gf¥a & d smoa T FT-
(A) 30°

(8) 45°

(C) 53°

(D) 65°

5% fergT Y va Fif¥ea orard ' 20°
H!Tm#haqvhmaﬂﬁr%laﬁtmﬂ
¥ 10% Reras @ fsa- eramé 35° &
quTe Jeqe as?

(A) 0.225 1

(8Y 0.575 1

(C) 0.875 £

(D) 0.72¢

P.T.O.
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S55. The exact formula for the Ares
nth HPZ is
(A) ba
(B) =ba

(C) nA [b+<2n-1)§]

(D) mA [b-(:en +1)%J

56. What will be the limit of resolution
of a microscope if its numerical
value of aperature is 0.12 and
wavelength of light used is 6000&
(A) 305 m
(B) 30.5x10"m
(C) 30.5 cm
(D) 30.5 mm
57. Which out of following cannot pro-
duce two Coherent sources?
(A) Uoyd's Mirror
(B) Fresnel biprism
(C) Young's double slit
(D) Prism
58. The reason for taking refracting
angle very small in biprism is to
. (A) decrease g
(B) increase B
(C) keep B constant
(D) produce colour fringes

344/H

Mes

S5,

56.

57.

58.

" ¥ Jomr ¥ By WPz & AT @
W“ﬂi’fﬁgt.

(A) b

(B) =ba

A

(C) nA|b+(2n- 1)3

() nA

Yesreelt B Rvves d e vt ol
IHD WIS TR 0.12 & q1 UgwH
YoM B aded 60004 &

(A) 305 m

r -
A
b- b
.. (2n + 1)4

(B) 30.5%x10""m

(C) 30.5 cm |

(D) 30.5 mm

e 3 2 e a1 oot s e =
f&a s -

(A) TS & ador

(B) ¥ Rfrm

(C) o fdwn sz

(D) frm

e & R ¥ sads Bor segay
(F9) A BT PRI -

(A) B TW G

(B) B 3t R

(C) B ¥ Faa &

(Dy T frat Fffa &
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59.

60.

61.

62.

2ed be.-
cause they- be

(A) have high frequencies

(B) have short Wavelengths

(C) transverse in Nature

(D) have high velocity

If the light is polarized by reflection

then the angle between reflected &
refracted light will be

(A) 2=n

(B) =

(C) n/2

(D) n/4

Fresnel, zones are known as half
period zones because the path dif-
ference between consecutive

zones is

(A) % (8)

3

© 3 (D) 2x

Which of the following undergo
maximum diff_raction?

(A) a-rays

(B) y-rays

(C) Radio waves

(D) Light waves

344/H

60.

. m&ma@ﬂhmmg

2t

(A) 37 Aaf 31 a4y 4

(B) mmMmt

(C) A3rprea §

(D) T o ama sy 3

af& T B R gRr gt P 31
wabal & o Riafia aur Hoahia e 3
g BT B-

(A) 2n
(B) =

(C) n/2
(D) =/4

61. ¥t B Bieay glad slert seaw
pob

62,

& a4 2 emaR Biee & 7en TamR
X &

(8) (8) »

Sl N>

(C) (D) 2x

Preg & ¥ form Rad wefits i
A

(8 o-feoll @

(B) y-f5on

(C) Ao &< &

(D) werar &M B

P.T.C
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t
63. In Young's double slit exper'me"
the distance of m'" dark fringe fro™

central fringe wili be
DA
A 2m-1) =
(A) ( ) 2d

Da
2m. ="
(B) 2d

DA
2m-1) =2
(C) (2m-1) 5

DA
D) m-—
(D) m=

64. When a thin mica sheet of thick’

ness 't' and refractive index p i
placed in the path of first wave pro-
ducing Interference then the dis-
placement of interference pattern

towards S1 will be
d
(A) 5(’”‘ -1t

() S(u-t

dt
(€©) G-1p

() -1

65. A small circular disc is placed in the
path of monochromatic light. The
centre of geometrical shadow yj|
be -

(A) dark

(B) bright

(C) coloured

(D) partially bright

63,
ﬂ"&'t"’ﬁﬂm#wmﬂw
*’“‘"‘Sr&mﬁmaer;a -

® @m- 1) D
2d
B 2m.D2
P 2m, <
(C) (2m- 1) DA
d

(D) mbr
2

64. Sferaor sem ey anedl ey ar & 99

%'t A wer |, rvadsis aeh VD
B de 1@ R sy 5, B 3R R
R ¥ Reerfer 21 smarm-

(A St-1t

®) JG-1t

dt
© %o

(0) k-1

65. v auiig Yo & A ¥ v Y gEeR

T (Disc) @ & I @ safadg
B T B AW
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67-

68.

Sy
angle of one Secong o bteng an
® Objgc-

A=55004,
Plective will

tive of @ telescopg. :
Then the size of thq o
be-

(A) 13.86 m

(8) 0.1386 m

(C) 0.1386 cm

(D) 1.386 m

A convex Surface of radiys 300 ¢m
of @ plano convex lens rests on a
Concave spherical Surface of radiys
400cm and Newton's rings are
viewed with reflected light of wave-

length 6x 107 cm Diameter of 13"

_ bright ring is

(A) 1.90 cm
(B) 19.0 cm
(C) 2.4 cm
(D) 3.2 cm
A plane transmission

' i |
15000 lines per inch. Find the and e
f the 5043ﬁ and

jon ©
of separat e sec-

50164 lines of hetu™
ond order spectri™
(A) 16’

(B) 42

(C) 1°12°

(D) 1°52°

344/H

grating has’

(19

66-

67.

68.

ey e 2 ar e & sfigeos |
e A5 BT B & &) 7R A=55004

2 A sfigeas &1 FER -

(A) 13.86 m

(B) 0.1386 m

(C)70.1386 cm

(D) 1.386 m

e FdeIeE S @ Jae aa B P
sodﬂ.ﬁf.%aﬂzaamrhmw
P Bz 400 A 8, $ IR
3| e yo gRT e R 1 @
3| 138 el R o e fosern -
(A) 1.90 cm

(B) 19.0 cm

(&) 2.4 cm

(D) 3.2 cm
Eaﬂﬁqqmﬁmﬁfiﬂﬁmooomﬁ
Hﬁéﬂﬁlﬁﬁuﬁﬁmﬂwm
srar: 5048A @ 50164 & i T
W%ﬁﬂfﬁ’lﬂ“ﬂw&@%ﬁ-
(A) 16'

(B) 42'

(C) 1°12'

0 !
(0) 1752 P.T.0.
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69 a}m _
r / mﬁ“ﬁtmﬁwﬁ&a

oh®
. ce of two ¢
69. In the interferen s 5 ff Eﬂ'ﬂﬁ B & R . & 2 T“ -
ent waves the fringe Wi & S 3'@'%'
teed N Bt et v
the frequency of light €™ ' .
source is doubled than fring® wi (A) 2
will be (9} 8/2
(A) 2p
(B) p/2 (C) 3p
(D) B/3 :
e 70. TR 1.<6.2x 107 m ¥ 2 wen
70. Two Coherent sources of waV o
length 6.2x10-’m produce intér llilmmlmaﬂﬂgl 10@!@%?5
ference. The path difference COITe" Mg ¥= & W YR anm-
sponding to 10t order Maxima wil (A) 6.2x10-%m"
be '
B) 6. -6
(A) 6.2x10°8%m (B) 6.2x10°°m
-6
(B) 6.2x10°¢m | (©) 6.2x10°5m

(C) 6.2x10°5m
(D) 6.2x107*m (D) 6.2x107*m
71. Which one relation is correct 71. Frey wiiaxol § B9 W 9 -

(A) Limit of resolution

* resolving powe: (A) faoe R emwen
(B) Limit of resolution o resoly.
Rty T o e e
ing power (B) L
(C) Limit of resolution © Rt I « [1-Ta%eT awa)
[1-resolving Powey, ‘
(D) None of the above (D) ;qqﬁﬂﬁ‘?' o
344/H
a
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_ Light of w
2. =8 Svelengty 22. 6000R e 1 W 24107 cm.

P T S e
of second mini:,:n?:hr POSition a. i
maxima will be om Centra| 0
) 0° (A) ©
(8) 15° (8) 15°
(€) 30° (C) 30°
(D) 60° (D) 60°

73. Light of wavelength S880A is incy. 73. Tadh S B @ (u=1.5) W 58804
dent on a thin glass piate (u=1.5) FERY] Ty 39 WBR Jufd & 5
such that angle of refraction 60°. @ ¥ Hyads DT 60° AT B AT DY
The minimum thickness of the plate TE gHW AT 1 B AN a8 Wrataid
SO that it appear dark in the re- wore A Hen g 2
flected light will be (A) 3920 R
(A) 39204
(B) 43724 (B) 4372A
(©) 5840R | (C) 58404
(D) 63127 (D) 63124

74. In double slit experiment the dis-  74. f& Rere wam & Rewet & wez gt 0.6
tance between two slits is 0.6mm frdt. & e 52 4800A ot & waprer
and these are illuminated with light Aa e Reei 120 ¥
of wavelength 4800A. The Angular 2 R Rerr ok e e ot o ey
width of dark fringe on the screen R

120 cm from the screen is
(A) 8x107* radian
(B) 6x107* radian
(C) 4x107* radian
(D) 16x10™* radian

(A) 8x107* radian
(B) 6x10™* radian
(C) 4x107* radian
(D) 16x107 radian

[21]

344/H P.T.0,
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0
ed
75. The two polarolds are cro%*°

each other. Now, one of the® -
rotated through 30°.The percé
age of incident unpolarized light{
will pass through the system will
(A) 37.5%
(B) 25%
(C) 15%
(D) 12.5%
76. Optically active substances aré
those which
(A) produce polarized light
(B) rotate the plane of polarizd”
tion of polarized light
(C) produce double refraction
(D) convert plane polarized light

into circularly polarized light

77. The width of the nth HPZ will be
(A) nba
(B) Jba (yn-vn-1)
(C) (Vn+Jn-1){/ b2

Jbr
(D) (vn-vn-1)

78. The phenomena of diffraction wag

discovered by
(A) Grimaldi.
(B) Fresnel

(C) Newton
(D) Fraunhoffer

76.

77.

(B) o wamer 3 gy aren o o &
:

(C) & svads s oy &

(D) wwae gfda worer 3 g g
v % wRafda a<a &

nth HPZ o dherd -
(). Jrb%

(B) {Bx (h-n-1)
(§) (n+m-1)JBX

/o
0) - D)

-,;qﬁnﬁﬁﬁmﬁﬁadﬂaﬁmm
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79- In the Pro;)agauon

80.

81.

82.

the Angle betw'-‘ﬂn t:: " Wayae
bration and Plane of
(A) n

(B) =/4

(C) zero

“ation |

(D) None of these

A ray of light Strikes ,
at an angle of 6o If th
and refracted rayg are
lar to each other, the

lass Plate
© reflecteq
pemendlcu-

indeK Uf
fraction of glass s - ¢

(8) E

(D) 1.733

(A)

NWw N

(C)

The device which produces highly
coherent sources is

(A) Fresnel biprism

(B) Young's double slit

(C) LASER

(D) Uoyd's Mirror

In Young's double slit experiment,
if the sodium light is replaced by vio-
let light of same intensity then in
the interference pattern

(A) B will decrease

(B) B willincrease
(C) I will decreases

(D) I willincrease

344/H

19, o1 POt 3 ¥eor % 259 A g0

am & fweren ahor @
(A) n

(B) n/4

(C) ¢4

(0) & J B @

50. T STl B for i B A R 60°
asmutmﬁttuﬁqmﬁaafﬂ
yafda Rt R eraEd & A o
&1 JATHID B-

3
® 3 ® |3
3
© 3 (D) 1.732

g1. oI BN WEE WA U FA D P
fradad
(A) ¥ f-frew
(B) um fx-Yanfes

(C) o
(D) ™8 & «dor
82. qfe am & =afaaor wam # Wifsan wem
¥ e | 390 aar &1 & v sen
IR & wfeERor wfoeg A
(A) B T IR
(B) p &G AW
(gy 1ue s
(D) 1g SR
P.T.0.
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a'
83. Calculate the minimum plate 5¢°

ration in a Fabry Perot Interl‘e"“"ﬂ‘g
eter to obtain a free spectral rand
of 0.05 & in the wavelength reglo"
50004

(A) 1.5 cm

(B) 2.0 cm

(C) 2.5 cm

(D) 3.0 cm

84. If light of wavelength 5890A 15

made incident on a slit of width
0.3mm, then the position of first
secondary minimum will be at
(A) @ = sin™! (0.00196)

(B) 6 =sin"! (0.16)

(C) 6 =sin™! (.1012)

(D) 6 = sin~! (0.032)

85. The ratio of the area of nth HPZ,

86.

4/H

and its distance from the point of
observation is

(A) nbA

(B) =A

(C) mA(1+cos6,)

(D) 7

In the diffraction pattern due to a

single slit, in the direction 6=0, we -

get
(A) first secondary minimum
(B) central maximum

(C) first secondary maximum
(D) second seconda{'y maximum

84.

:’3 MM e & R Yar o W
Bgoawmmmﬁﬂﬁ

RO R s oy R 2

85.

86.

(AY 9= sin"! (0.00196)

(B) 8= gjn (0.16)

(C) 0= gjpt (.1012)

(D) 0= sint (0.032)

N HPZ & derser e 3wt Snaror &g
¥ 30 o1 s e &

96 nbi

(B) =i

(C) nr(1+cos6,)

() ;
mi‘mﬁﬁﬂﬁaﬁqﬁ'9=0ﬁﬁw
¥ e B -
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87. The two coherent
aves of
9ht will

88.

89.

not produce constr
UCtive in
telf!r'

ence if the phase diﬁ:EI'EnC
e bhe-
tween them is oe

(A) 0°

(B) 360°

(C) 720°

(D) 90°

If the ratio of maximum and mini-
mum intensities in an interference
pattern is 36:1, then the ratio of
amplitudes of two waves will be
(A) 7:3

(B) 7:4

(C) 4:3

(D) 7:5

The ratio of the diameters of
Fresnel's third and fifth HPZ is

(A) 3:5

(B) J3:5

(C) 9: 25
(D) 5.3

30. The wavelength of sodium light is

(A) 60804
(B) 70004
(C) 55604
(D) 58904

344/H

87,

88.

}

89.

mﬁa\mmﬁmm
I T BN o 5 v wor
-

(A 0°

(B) 360°

(C) 720°

(D) 90°

af¥ et aaftror & v o st
AT GATH AT BT ST 36:1 A
AIGIROT B aqTN T B mErEr o

FrIA E-
(A) 7:3
(B) 7:4
() 4:3
(D) 7:5
S5%TeT HPZ ot et e el & s
&I 3 8-
(A) 3:5
(B) V3:5
(Q) 9:25
(D) V5:43

. O g P aee &-

(A) 6080R
(B) 70004
(C) 55604

(D) 58904
P.T.0.
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91. Intensity of light depends 0"

(A) Amplitude
(B) Frequency
(C) Wave length
(D) Velocity v
92. When a thin film of thickness
olaced in the path of light Wav®”
emerging out of S, then increas®
in optical path will be
(A) (u-1)t
(B) (u+1)t
(C) ut
t
@ 3
93. Two coherent source of intensity
ratio 1 : 4 produce an interference
pattern. The fringe visibility will be
(A) 1
(8) 0.8
(C) 0.4
(D) 0.6
94. In Young double slit experiment
the distance between two slits is
four times then the fringe width

will be

1
(A) 3 time

(B) 4 times
(C) L ti
2 mes

(D) 2 times
' 344/4

,f_; :

92.

I R o s 1 5, P e
T E T ¢ e o) e e <
RTGR ¥ 7 ¥ afy @ I &
(A) (u-1)t

(B) (u+1)t

- (C) ut

93.

94,

[28)

(D) ﬁ

1+ 4 el S 3 @ Hen wEE A
R oo Ry §1 A Bt qeaan
W W AN-

(A) 1

(B) 0.8

(C) 0.4

(D) 0.6

I & Y fisg v 3 Tanfusg) & wen
g R T 5 R st & wilgd -

1
(A) 7 T
(8) 4T

1
() 3 T
o) 2T
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5. Two coherent Wavey

sin wt. The resultan |
to interference will be Tue
(A) (a,+a,)

(B) (a,-a,)

(C) (a;2+a?)

(D) (a,i-a2)

96. The fringe width ﬁm—rgd‘xﬂUUras
compared for violet coloyr g ap-
proximately
(A) Three times
(B) double
(C) four times
(D) eight times

97. Inthe visible region of spectrum the
rotation of plane of polarization is
given by

B=A+—B—

X
The Unit of B may be
(A) degree
(B) radian
(C) Newton
(D) m?. radian

344/H

95, Y1=8, €0S wt IR y wa sin wt A
C o WAy adl me wwd ) afeson
¥ o wn B Awm -

(A) (a,+a,)
(B) (a,-a,)
(C) (a,2+3,%)

(D) (312_521)

96. o T % A s dsd & wm &Fl
a & fr s s & aF & s

fasan T A &
(A) & T
(B) AT
(€) ER T
(D) 3 T
97. WagH & X W ¥ 0T T B PH
fan s #-

i

B
9=h+-ii+

B B zod A
(A) B
(B) Wa=

(C) ==
(D) (#. ) Waw

n

P.Y.
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n? /é&'
0
98. A beam of natural light fall a, wﬂmﬁm‘iasm
hich 2
system of 6 polaroids, W W
ion such that Ll R & st e
i ss
arranged in succe 0 q‘fﬂ}m#m R i 31 B
each polaroid is turned throud LR Pt
" WeBTeT 57 wfcrera ‘-
with respect to the preceding
oten
The percentage of incident inté (A) 1009
5
sity that passes through the 5
: B
tem will be- ) s0%,
(A) 100%
(©) 3
(B) 50% 0%
(C) 30%
(D) 12%
(D) 12%
99. In Young's double slit experiment f 99. Tn & Y v ¥ ot T 51 B
the width of 2nd fringe is 1mm then m 1 mm & a dredi fbet ot dteré
the width of fifth fringe is- T g
(A) 4 mm (A) 4 mm
| (B) 2 mm ' (B) 2 mm
/ (C) 3mm- (C) 3 mm
(D) 1 mm | Jg‘*" (D) 1 mm
100.The maximum intensity prodyceq ﬂqy 100,J, @ L, %hama?la"r T WEZ a0 B
by two coherent waves of Inten. \J RaRo 3 3 yitraw digar -
sity I, and L, will be
(A) I1 I 2 & 1+
+ 2
L (B) 112 +
(B) 1,2+1,2
(C) Zero - (C) A
0-)) I +1z +2441p
(D) Il + 12 +2 1’[112
344/H

S — (28]

https://www.dbrauonline.com



